Calculating with Surds I
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1S T

Express V12 in its simplest form. Jl—?__ (7 <= [1 mark] @
Answer Q_E (
V50 | 46)'
E 50 inits si t f . 1 k
Xpress in its simplest form {-56- , J—Z-S xﬁ: [1 mark] z
o
o
D
Answer S 'r?:‘ 8
° amd
=
Express V500 in its simplest form. ISDO = Jioo x \rs_ [1 mark] Y
Q
-=
o}
|
Answer \O ‘rs— uo_
Express V27 in its simplest form. E__} =Nq x {3 [1 mark]
Answer gﬁ
Express V98 in its simplest form. ﬁ?j = W x{1 [1 mark]
Answer q'ﬁ
Express V48 in its simplest form. ‘l W = mx ﬁ [1 mark]
Answer L\‘H =
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Express 5v8 in its simplestform. & v [y x {2

= S x2xV¥2
Answer \Ori
Express 418 in its simplest form. L % ,raT x VL
- 4x LR ‘F):
Answer \’Lﬁ
Express 2v200 in its simplest form. %) 5 m X J2
= X 1O x J';.
Answer Q_O\ri
Express 9v20 in its simplest form. ol X JT_; % \!_5-
=9 x Lx\s
Answer \ %E
Express 7v640 in its simplest form. '-]- X fax {io
=¥ x Wx{lo
Answer SE’\H’C’)
Express 5V80 in its simplest form. G » lle xS
= S x&X '3
Answer QOE
Express 3v72 in its simplest form. 2 x 3¢ x J2
= Ax b x \ﬁ-
Answer \ 8 ‘]’7—-

www.1stclassmaths.com © 1stclassmaths

[1 mark]

[1 mark]

[1 mark]

[1 mark]

[1 mark]

[1 mark]

[1 mark]


http://www.1stclassmaths.com/

oy r@ @1stclassmaths 3

14

15

16

17

18

Work out v/6 x /3 giving your answer in its simplest form. [2 marks]
(R = {7 x{2
= Ix (2
Answer g\ri
Work out /10 x /6 giving your answer in its simplest form. [2 marks]
{60 = g x \ﬁ—S
= L x \|Is
Answer 2\‘ \S
Work out 2+/5 x 5v/8 giving your answer in its simplest form. [2 marks]
1040 = |0 x {& = (Io
=10« 2 x |10
Answer lO \[(O
Work out 4v/2 x 24/12 giving your answer in its simplest form. [2 marks]
RIw= Ex{tx o
= Tx L x (C:
Answer l b\r[‘:)-
Work out 2v/20 x 3v5 giving your answer as an integer. [2 marks]

6o = 6% IO

6O

Answer
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Work out (\/5)2 giving your answer as an integer. [2 marks]

fe = =

Answer 6

Work out (\/3)4 giving your answer as an integer. [2 marks]
S = J€ x JS x (S
= S X, S
Answer fLS
Work out (2\/5)3 giving your answer in its simplest form. [2 marks]

23 x 202 x 203 = '
= x{A x3

= T x T xJ3

Answer l"\'ﬁ

Work out (V2 x /3 x \/3)2 giving your answer as an integer. [2 marks]

(o) = 10 x fio

Answer 15 O

Express (\/5)7 in the form av/3 , where a is an integer. [2 marks]

(x 3 xGxT x 3 xBx B
= 3 ~ £ X 3&\@’

Answer a-:} ﬁ
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Work out V60 ++/3 giving your answer in its simplest form.

{0 = {& xS

[2 marks]
= 2x g
Answer 2J—§
25 Work out 8v30 + 4v6 giving your answer in its simplest form. [1 mark]
Answer
26 Simplify fully 11“\/%50 [2 marks]
250 = 2% (18 x|Z
- L X S x ﬁ
Answer |O \‘2—
N 40V40
27 Simplify fully ——
implify fully =70

[2 marks]
Bl = 8 x 2

Answer \ G
28

2
Simplify fully (Q

\/§> = 1 T \F [2 marks]
(Z) - (&« %

=
Answer
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Simplify V11 + V11 + V11

Answer gm

Simplify 35 + 65

Answer q E

Simplify 9V7 + 3V7 -7

Answer \ \ ﬁ

Work out (V2 +6v2 - 2\/5)2 giving your answer as an integer.

(512)= s{ixsn
= 1Sy

Answer 5 O

Simplify  4v3 + 6v2 — V3 + 8v2

m—— . s

3 + I4{2
NS (R (R
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Express V18 +v2 inthe form av2 , where a is an integer.

[ x {2 + 2
= 28z« (1

Answer Ll' \FL-

Express 2v3 ++/75 inthe form av3 , where a is an integer.

22 + {28 x (3
= 23 + ST

Answer q— E

Express V32 ++/8 inthe form av/2 , where a is an integer.

mx\ﬁﬁ—ﬁx\ﬁ
- 4y o+ 22

Answer E ﬁ

Express 3v500 — V20 in the form av5 , where a is an integer.

Sxmxﬁ - ¥ xS
3o{Ss - 245

Answer 1 %J—S—

\

[2 marks]

[2 marks]

[3 marks]

[3 marks]

Express V28 + V175 — 37 inthe form av7 , where ais an integer. [3 marks]

(Gx {F + 5= F - 207
= 21 + SIE - 27

Answer L’r ﬁ_
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39 Ross is doing a surds question.
Ross writes:
1L
V300 + V2 = V372 (300 + (" 03
_ V3 x T8 = oo x¥3 + W <03
=2 x+/78 = l Oﬁ A 1\&
= 2\/7_8

= \?_\r‘g

Explain the mistake that Ross has made [1 mark]

ow cannet add $20 and §T2 ag they

do wol§ have One same number inside e toob
Ross Showld siw\?"&& the.m firs’o-

40 Work out V30 x 5v6 giving your answer as an integer.
V125 —+/20

Sm — Sx\rl—GXJ—S—
\l_?_—shxr-\!—’-}—)&\l-g 54—5—*7-4—5—

[4 marks]

= 5&*6)(\1—5'
(s

30\%
B3

i

Answer { O
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